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(1) For analyzing the safety margin of finite slopes with circular failure planes, what is the
method that is most commonly used nowadays? (4%)

(2) For slope stability analysis, the factor of safety is the ratio of resistant force/stress to driving
force/stress. What causes resistant force/stress and what causes driving force/stress? (6%)
(3) Due to the existence of A, a soil retaining wall could fail. What is A? (3%)

(4) Draw figures illustrating the ideas of calculating the factor of safety of a retaining wall
against overturning. (4%) '

(5) Draw figures illustrating the ideas of calculating the factor of safety of a retaining wall
against base sliding. (4%)

(6) Draw figures illustrating the ideas of calculating the factor of safety of a retaining wall

against bearing capacity failure. (4%)
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